1.1

BERINZEHEE B1BQTHER (M)
(B)Fm26%E481H (B)Fm27%43A31H ftefERUEABERIUS
BeE 8 FH (A RE (B) EZ2 (A-(B) 5=
RESBXIA 102,635,000 106,202,612 A 3567612
EAEF B@BEINA 1,650,000 1,650,000
5 I REREZFMEIA 1,650,000 1,627,560 22,440
e A | ZERFBELSESIRA 13,000 10,876 2,124
= ZDHDIRA 284,000 252,920 31,080
%JJ BEEFEHRAE ) 106,232,000 108,093,968 A 1,861,968
-z AGEEXH 83,853,000 79,582,679 4,270,321
OE BEEXH 17,135,000 15,116,572 2,018,428
z X |EHEEXH 20,653,000 20,483,935 169,065
I B |XILFRXH 0
% R EEMIEEICLIESRAE
BEEREHMTHE(2) 121,641,000 115,183,186 6,457,814
EETBEDIEZETH(R)=01)-(2) A 15,409,000 A 7,089,218 A 8,319,782
i MR RBREEHBEIRA 0
% Iz MR BEEFHEIRA 0
2 A EERBHEEEASINA 0
fi& B3 & E ST A IS 0
% MEREEFIRAL (4) 0 0 0
< HEEEBEAESTEEETH 0
& | X |BEEERSIH 0
5 | B |BEEERA-BEIH 0
ol |mEREEEXHE (5) 0 0 0
X |BEREEREEFSINTELH(6)=(4)-(5) 0 0 0
= REEEESEALTLEBEFHLINA 0
[0)) Iz BN ESIARIRA 10,000,000 5,000,000 5,000,000
fth A PR R ERRAEIRA 0
1)) ZTRMDEHICLDHINA 0
& T DD EEBNRAE (7) 10,000,000 5,000,000 5,000,000
& RHEMfEXH 0
= %* BAUBEXE 1,280,000 1,279,152 848
& i WEXR S HERRAEIE 0
%) ZDHDFEHIZLDTH 0
)} DD EENZ HE(8) 1,280,000 1,279,152 848
X |0t ESERINZELE(9)=(7)-(8) 8,720,000 3,720,848 4,999,152
FlREXH(10) 0 0 0
LPELIMFZEE(11)=(3)+(6)+(9)-(10) A 6,689,000 A 3,368,370 A 3,320,630
AR ZILESRE (12) 17,866,202 17,866,202 0
LR B (11)+(12) 11,177,202 14,497,832 A 3,320,630




